51
5.1.1 5.1.1
5.1.1
A B

1 /mm 880 780 +2
2 /mm | =1250 | =1100
3 /mm 240 240
4 /mm 10 000 9000
5 /mm =2000 | =2000
6 /mm =800 =800
7 /mm 2 500 2300
8 /mm 3700 3380
9 mm 6 700 5800

7 100 6 400
10 /mm =2100 =2 100
11 /mm 2240 2164




A B

12 /mm 3350 3115

13 1 2 1 2

14 i 1100 1100

1 600 1 600
AWO0
15 /mm 640 540
10 mm
16 /mm 280 280
10 mm

17 t =5 =4

18 AW2 =72 =52 6 /m?

19 AW3 =92 =62 9  /m?

52
5.2.1 Mec
M Tc T
5.2.2
2
:MC+MC: 2 1 3 :MC+T+MC: cc_33
ccy»s

5.2.3




5.3

5.3.1

5.3.2

5 km/h
5.3.3

5.3.4



8.1

8.1.1 30
8.1.2

8.1.3 EN 12663 P-v

200 kN 200 kN
8.1.4 1.3

8.1.5

8.1.6

8.1.7 EN 15085

8.2

8.2.1 3



8.2.2
TB/T 1451
8.2.3
500 mm

8.2.4

8.2.5
8.2.6
500 mm
8.2.7
2 Ix

8.3.1
1200 mm
8.3.2

8.3.3

1 800 mm
600 mm

8.3

1 800 mm

GB 18045

600 mm



8.3.4

8.3.5
8.3.6 800 mm
200 1x 150 1x
10 Ix
8.3.7
800 mm 1 800 mm
8.3.8



